Junta de Andalucia

Consejeria de Desarrollo Educativo y Formacion Profesional
Pruebas Especificas de Certificacion 2023/2024
Comprensiéon de Textos Orales

NIVEL C1 | INGLES

APEIIOS: oottt ess st

INOIMDIE! ..ottt sttt s sttt s R8RS SRSR S sbssbsnssbt
LI AluMNO/@ OFICIAL del GrUPO: ..ooovoveeeeeccieeeieveeeneeeessssssssissssssssssssesssssssssssssssssssssssssesssssssns
Indica el nombre de tu profesor/a-tutor/a: .......eeeeeesessesessenns

1 Alumno/a LIBRE.

INSTRUCCIONES

Duraciéon maxima: 45 minutos.
Esta prueba consta de tres tareas:
o Enla Tarea 1 tendras que identificar las ideas generales del texto.
o Enla Tarea 2 tendrads que entender las ideas principales del texto.
o Enla Tarea 3 tendras que comprender los detalles importantes de un texto.
En cada tarea obtendras: 1 punto por cada respuesta correcta; 0 puntos por cada respuesta incorrecta
o no dada.
Solo se admitiran respuestas escritas con boligrafo azul o negro.
Por favor, no escribas en los espacios sombreados destinados a la calificacion de las tareas.
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TASK 1
CHICAGO NEWS

You are going to hear six different pieces of news from a podcast informing about Chicago. From
each question (1-6) choose the most suitable option (A-C). Extract 0 is given as an example. You

will get one point per correct answer. You will hear the recording TWICE.

0. According to the recording, when being a host/hostess, it's essential...
A ... to take the burden of every single detail. B ‘/
B .. to share out tasks and accept help.
C ... to reduce the amount of work and be self-sufficient.

1. The accident was caused because...
A ... a vehicle didn't respect the bike lane.
B .. a vehicle crashed into a bike riding in a bike lane.
C ... the cyclist decided not to use the bike lane.

2. It is mentioned that Lord Harold...
A .. is not likely to be adopted due to its age.
B .. does not want to be adopted by someone else.
C ... is too old to be part of an adoption process.

3. According to the piece of news, losing weight...
A .. could be faster by undergoing an operation.
B ... is safer when dieting with a professional than on your own.
C ... can be more dangerous than being overweight in some cases.

4. Fuel prices in Chicago...
A. ... are just inferior in comparison to some islands.
B. ... have soared drastically due to global increments.
C. ... are justified mainly by the situation in Hawaii.

5. Controlling the traffic in a city such as Chicago is possible thanks to...
A. .. new technologies exclusively.
B. .. expertise and new devices.
C. .. continuous reports made by professionals.

6. Water shuts offs in Chicago...
A. .. are the beginning of a debt cycle.
B. ... are widespread all over the state.
C. .. result in economic crises affecting the middle-class.
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TASK 2
THE RASPBERRY VISA

You are going to hear 5 extracts from a TV programme about the raspberry visa in Portugal. Match
the sentences (B-M) with the correct extract (1-5). Each extract can be used more than once. Letter
A matches with extract 0, given as an example. You will get one point per correct answer. You will
hear the recording TWICE.

SENTENCES. EXTRACT

A.  Portugal produces most of the raspberries consumed in Europe. 0 v

B. This area was scarcely inhabited in the past.

C. Farming jobs in Portugal are told to be very suitable for the Nepalese.

D. lllegal immigrants can obtain residence permits under some conditions.

E. The Nepalese citizens are prone to moving for working purposes.

F.  This Portuguese region meets all the requirements to be a great fruit producer.

G. Getting a visa is not an easy task.

H. Politicians seem to be aware of the bad working conditions.

I.  The success of the Portugal Berry industry stems also from European help.

J. The regulation is considered as a liberal measure.

K. The Nepalese economy relies partly on the migrant Nepalese workers.
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TASK 3
WHY IS THE FRENCH WINE INDUSTRY STRUGGLING?

You are going to hear an extract of a documentary about the French wine industry. For questions
1 to 10, choose the best answer (A, B or C). Number 0 is an example. You will get 1 point per

correct answer. You will hear the recording TWICE.

0. The French wine industry is in danger because...

A ..they can cope with the export demand.
B ...the consumption of red wine has decreased.
C  ..wine is said to be harmful for our health.

1. In compensation, Winemakers like Bastien Mercier are offered...
A. ... funds in exchange for replanting their lands.
B. ... tax exemptions for hectares.
C. ... financial aids for new facilities.

2. Among all the factors mentioned in the recording, one important
external deterrent may be...
A. .. some international policies.
B. ... the change of local customs.
C. ... the impact of the credit crunch.

3. Bastien claims that...
A. ... the increase of the price of basic needs goods has had a huge impact.
B. ... the global consumer’s attitude towards Bordeaux wine has changed.
C. ... fellow countrymen have lost their idiosyncrasy.

4. According to the recording...
A. ... winemakers across the board didn't live up to consumers’ expectations.
B. ... you can't just rely on your reputation.
C. ... French wine's main failure was the total lack of promotion.

5. In 1956 the French government...
A. ... partially limited alcohol consumption at schools.
B. ... totally prohibited alcohol in school canteens.
C. ... banned wine consumption for minors.

6. In France, wine consumption was reduced by 1 to 2% per year...
A. .. over the past 7 years.
B. ... between 2000 and 2015.
C. ...in the last 60 years.

7. According to the recording...
A. ... younger generations drink twice a much.
B. ... boomers drink twice as less in comparison to youngsters.
C. ... people younger than 55 drink the least alcohol.

8. Among the wines having experienced a decrease in their consumption,
which type has the lowest drop rate?
A. ... rosé wine.

B. ... white wine.
C. ... red wine.
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Apellidos y Nombre:

9. One of the possible solutions for the wine crisis could be...
A. ... sticking to traditional single-varietal wines.
B. ... doing away with the production of red wine.
C. ... considering the importance of climate change.

10. Bastien Mercier...
A. ... is reluctant to change and very set in his ways.
B. ... plans to host events in the future as a solution to the wine crisis.
C. ... has shown resourcefulness finding new opportunities.
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